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wiEE ML TRERF CBETK) MERMERF (F1-3TK) FHMK

% Lo R - R - _1ivs ¥ B B ff & @ W OE
[k 14,062, 700 + 384, 339 14,447,039
EEAGE 14,062, 700
EERE 384, 339
T DAt IR { 14,062,700 x 53.85% ( 35% <+ (1 — 35%) ) 7,572,763
B 14,447,039 + 7,572,763 22,019, 802
—BREBES 22,019,802 x 53.85% (35% + (1 — 35%) ) — 7,465 11,850, 198
EF 22,019,802 + 11,850,198 33, 870, 000
HBEREALE 33,870,000 x 10.00% 3,387,000

EBEEN 33,870,000 + 3,387,000 37, 257, 000



EERNRE ML TRERF CBETK) MERMERF (F1-3TK) FHMK

% Lo BE - BRTiE B % B2 B i ® # wm =
E#ER(E 14, 447,039
RETER 14, 447,039
FHER ET 14, 447,039
BB 14, 062, 700
EREtETE 422, 500
1 ERETETE 1.00 215,100 215,100
=
2 BERE 1.00 207, 400 207, 400
=
FHlER ET 3, 286, 300
3 HEEHDRE 1.00 896, 600 896, 600
=
4 EEFREtE 1.00 1,147, 200 1,147, 200
=
5 1EK>FRDIEET 1.00 353, 900 353, 900
=
6 BEE AR R DIRET 1.00 444, 300 444, 300
=
T HEKnEORET 1.00 444,300 444, 300
=
MELEE 2, 885, 300
8 EIFtEDRE 1.00 707, 800 707, 800
=
9 FEFMRAR - W ORE 1.00 707, 800 707, 800
=
10 fET TR D%E 1.00 353, 900 353, 900
=
11 BB RO 1.00 353, 900 353, 900



EERNRE ML TRERF CBETK) MERMERF (F1-3TK) FHMK

% Lo BE - BRTiE B % B2 B i ® # wm =

12 REFEDOHRE 1.00 353, 900 353, 900
=

13 BEIREDRE 1.00 408, 000 408, 000
=

ERMER 4,688, 300

14 $E8HE 1.00 1,164, 000 1,164,000
=

15 BIEERL 1.00 2,946, 900 2,946, 900
=

16 BARME L DRBERIERE 1.00 5717, 400 5717, 400
=

BIM/CINE 7 )L DAERL 1,678, 600

17T ENRERETILOER 1.00 1,220, 800 1,220, 800

247
18 BDEEMETILIER 1.00 457, 800 457, 800
247

% - |E 338, 000

19 %38 - 3|E 4.00 84,500 338, 000
E

BRE 290, 800

20 BE 1.00 290, 800 290, 800
=

D3 472,900

21 FHRTREEERK 1.00 472,900 472,900
=

EEEH 384, 339

EHAME 134, 339

22 EHRAME 1.00 134, 339 134,339
=



BEARE

ML TRERF CBETK) MERMERF (F1-3TK) FHMK
% R g - BRTE Bifif O L i ' # mE
S 250, 000
23 EBHRS 1.00 250, 000 250, 000
=



RER-FEL/ v — ML EEREF CEREHR) MERHER (F1-3ITX) FiHME%ET
FE5:1
L F5 : BRETETE IEE1D)
% f I - BIRTiE BT £ B & # 5 &
FAEHERAR (F%ET)
A 2.00 64, 800. 00 129, 600
A (A)
A 1.50 57, 000. 00 85, 500
& &t EZ8Eh - 1.00=K 215, 100. 00 215, 100
F5:2
&% RiAE 1%y
% f I - IRTiE BT = B & % 5 &
FEHERAR (F%ET)
A 1.00 64, 800. 00 64, 800
HAf (A)
A 1.00 57, 000. 00 57, 000
HAf (B)
A 1.00 47, 200. 00 47,200
HAf (C)
A 1.00 38, 400. 00 38, 400
& &t EZ8Eh - 1.00=K 207, 400. 00 207, 400
&5 :3
& RETEHORTE 1)
% b I - BIRTE BT = B & # 5 &
FEHERAR (F%ET)
A 2.00 64, 800. 00 129, 600
HAf (A)
A 3.00 57, 000. 00 171,000
HAf (B)
A 5.00 47, 200. 00 236, 000
HAf (C)
A 5.00 38, 400. 00 192, 000
Hifrg
A 5.00 33, 600. 00 168, 000
& i EZ8Eh - 1.00=K 896, 600. 00 896, 600




RER-FEL/ v — ML EEREF CEREHR) MERHER (F1-3ITX) FiHME%ET
FS 4
&7 : BEmEE 1LY
% b g - BIRTE BT H = B Ol %8 5 &
FEHERAR (F%ET)
A 4.50 64, 800. 00 291, 600
A (A)
A 6.00 57, 000. 00 342, 000
HAf (B)
A 6.00 47, 200. 00 283, 200
HAf (C)
A 6.00 38, 400. 00 230, 400
& it E%8eh - 1.00K 1,147, 200. 00 1,147, 200
H#S:5
B - KR DRET 1LY
% b g - BIRTE BAfT H = B %8 5 &
FAEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
A (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 2.00 38, 400. 00 76, 800
& it E%8eh - 1.00X 353, 900. 00 353, 900
E#S:6
%#ﬁ . ﬁ;ﬁﬁﬁﬂggga)ﬁﬁ 1.‘?—&% L)
% b R - IRTE BART B = B L s &
FEHERAR (F%ET)
A 1.00 64, 800. 00 64, 800
HAf (A)
A 3.50 57, 000. 00 199, 500
HAf (B)
A 3.00 47, 200. 00 141, 600
HAf (C)
A 1.00 38, 400. 00 38, 400
& it E%8eh - 1.00K 444, 300. 00 444, 300




Rtz -/ \vr—

ML T2EER CERMR) MERER (F1-31X) MRt

&#5:7
25 : BeknEnigst 1LY
% f I - BIRTiE BT £ B & # 5 &
FEHERAR (F%ET)
A 1.00 64, 800. 00 64, 800
A (A)
A 3.50 57, 000. 00 199, 500
HAf (B)
A 3.00 47, 200. 00 141, 600
HAf (C)
A 1.00 38, 400. 00 38, 400
& &t EZ8Eh - 1.00=K 444, 300. 00 444, 300
&S5 :8
¥ ETHBEORE 1)
% f I - IRTiE BT = B & % 5 &
FEHERAR (F%ET)
A 3.00 64, 800. 00 194, 400
HAf (A)
A 3.00 57, 000. 00 171,000
HAf (B)
A 4.00 47, 200. 00 188, 800
HAf (C)
A 4.00 38, 400. 00 153, 600
& it EZ8Eh - 1.00=K 707, 800. 00 707, 800
&#5:9
£ . ERAMM - HEOREH B
% b I - IR BAfT = B & # 5 &
FEHERAR (F%ET)
A 3.00 64, 800. 00 194, 400
HAf (A)
A 3.00 57, 000. 00 171, 000
HAf (B)
A 4.00 47, 200. 00 188, 800
HAf (C)
A 4.00 38, 400. 00 153, 600
& it EZ8Eh - 1.00=K 707, 800. 00 707, 800




RER-FEL/ v — ML EEREF CEREHR) MERHER (F1-3ITX) FiHME%ET
EE:10
L2 : BT ITEOKRE 1LY
% b g - BIRTE BT = B Ol %8 5 &
FAEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
HAEf (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 2.00 38, 400. 00 76, 800
& it E%8eh : 1.00X 353, 900. 00 353, 900
BE 11
£ RERO®E 1LY
% b g - BIRTE BT = Bl L] g &
FAEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
A (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 2.00 38, 400. 00 76, 800
& it E%8eh - 1.00K 353, 900. 00 353, 900
BE 12
%#ﬁ . f@ﬁ%@ﬁﬁ 1.‘?—&% L)
% b I - BIRTE BART = B L s &
FEHERAR (F%ET)
A 1.50 64, 800. 00 97, 200
HAf (A)
A 1.50 57, 000. 00 85, 500
HAf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 2.00 38, 400. 00 76, 800
& it E%8eh - 1.00X 353, 900. 00 353, 900




Rtz -/ \vr—

ML T2EER CERMR) MERER (F1-31X) MRt

&5 :13
W WEIEEDRE 14y
2 p g - BIRTE By = B ® 5 &
AR (B)
A 3.00 47, 200. 00 141, 600
Ef (C)
A 3.00 38, 400. 00 115, 200
T e
A 4.50 33, 600. 00 151, 200
& 5 1YE%HERN - 1.00K 408, 000. 00 408, 000
‘S : 14
& BEHE 14y
2 b g - BIRTE By = B ® % i &
A (B)
A 3.00 47, 200. 00 141, 600
AR (C)
A 13.50 38, 400. 00 518, 400
b2 0y=1
A 15.00 33, 600. 00 504, 000
& 5 1E%HEN - 1.00K 1, 164, 000. 00 1, 164, 000
&S :15
2 FEER 14y
4 £ g - BIRTE By = B & 5 &
A (A)
A 4.50 57,000. 00 256, 500
A (B)
A 12.00 47, 200. 00 566, 400
AR (C)
A 22.50 38, 400. 00 864, 000
b2 00g=1
A 37.50 33, 600. 00 1, 260, 000
& 5 1E%HEN - 1.00K 2,946, 900. 00 2,946, 900




Rtz -/ \vr—

ML T2EER CERMR) MERER (F1-31X) MRt

&BE .16
¥ BAIRHEE E DRSS RMERS IEE1D)
% f I - BIRTiE BAf #H = B %5 5 &
FAEHERAR (F%ET)
A 2.00 64, 800. 00 129, 600
A (A)
A 3.00 57, 000. 00 171, 000
HEf (B)
A 2.00 47, 200. 00 94, 400
HAf (C)
A 3.00 38, 400. 00 115, 200
Hifrg
A 2.00 33, 600. 00 67, 200
& E%8eh - 1.00X 577, 400. 00 5717, 400
BE .17
& EHREFETILOMER 194 741
% b I - IRTiE B #H = B % i &
HEf (A)
A 8.00 57, 000. 00 456, 000
HAf (B)
A 4.00 47, 200. 00 188, 800
HAf (C)
A 8.00 38, 400. 00 307, 200
Hifrg
A 8.00 33, 600. 00 268, 800
& i E¥8EH :1.0058 47 1, 220, 800. 00 1, 220, 800




REER-FEIT/\vr—> ML TEsEE CEmtR) MERES (B1-3TK) Mt
&S 18
27 EDEEYE T IVER 194 7%y
% b | - BIkHE ) ' B & 8 % =
A (A)
A 3.00 57, 000. 00 171, 000
HEf (B)
A 1.50 47, 200. 00 70, 800
HEf (C)
A 3.00 38, 400. 00 115, 200
R 8
A 3.00 33, 600. 00 100, 800
= B EXEeH 1.008 4047 457, 800. 00 457, 800
£S5 :19
2 5 - BE 1[4 Y
% b B - BIkHE 0 B B 2 #8 % =
I fEERET (RED)
A 0.50 64, 800. 00 32, 400
A (A)
A 0.50 57, 000. 00 28, 500
A (B)
A 0.50 47, 200. 00 23, 600
= it YEZERES - 1.00[E 84, 500. 00 84, 500
£S5 :2
% b s - BARHE By B B 2 #8 % =
 fEERE (RED)
A 2.00 64, 800. 00 129, 600
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 1.00 47, 200. 00 47, 200
=) it YEZEREN - 1.00K 290, 800. 00 290, 800




RER-FEL/ v — ML TEEEF CEmhX) MERER (F1-3TX) FFEMERE
&S : 21
2 EHTEHREEER 14y
2 p g - BIRTE By = B ® 5 &
F AR GEED
A 1.50 64, 800. 00 97,200
AR (A)
A 2.50 57, 000. 00 142, 500
AR (B)
A 2.50 47, 200. 00 118, 000
AR (C)
A 3.00 38, 400. 00 115, 200
= it 1E%HERN 1,00 472, 900. 00 472,900
B5:22
&% EHARE 14y
2 b g - BIRTE = vd = B ® % i &
EHRARE
= 1.00 134, 339. 00 134, 339
= it 1E%HERN 1,00 134, 339. 00 134, 339
&S :23
2 EBHRR 14y
£ b g - BIRTE By = B ® g &
EBRRRE
= 1.00 250, 000. 00 250, 000
= it 1E%HEH 1,00 250, 000. 00 250, 000






